CATEGORY 1	– EDA Participating			ENGINEER	ESTIMATE	1. Low Bidder - C	hampagne & Marx	2. Rohde Bro	os. Excavating	3. M&M I	Excavation	4. Fisher Contra	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
1500001	Mobilization, Max \$573,000	1	LSUM	\$573,000.00	\$573,000.00	\$395,807.64	\$395,807.64	\$573,000.00	\$573,000.00	\$573,000.00	\$573,000.00	\$573,000.00	\$573,000.00
2020006	Stump, Rem, 19 inch to 36 inch	10	Ea	\$285.00	\$2,850.00	\$231.36	\$2,313.60	\$250.00	\$2,500.00	\$300.00	\$3,000.00	\$500.00	\$5,000.00
2020008	Stump, Rem, 6 inch to 18 inch	20	Ea	\$245.00	\$4,900.00	\$347.04	\$6,940.80	\$200.00	\$4,000.00	\$200.00	\$4,000.00	\$250.00	\$5,000.00
2030001	Culv, Rem, Less than 24 inch	6	Ea	\$330.00	\$1,980.00	\$347.04	\$2,082.24	\$300.00	\$1,800.00	\$200.00	\$1,200.00	\$500.00	\$3,000.00
2030010	Dr Structure, Abandon	5	Ea	\$700.00	\$3,500.00	\$563.59	\$2,817.95	\$300.00	\$1,500.00	\$200.00	\$1,000.00	\$375.00	\$1,875.00
2030011	Dr Structure, Rem	15	Ea	\$400.00	\$6,000.00	\$845.38	\$12,680.70	\$400.00	\$6,000.00	\$400.00	\$6,000.00	\$500.00	\$7,500.00
2030015	Sewer, Rem, Less than 24 inch	1143	Ft	\$12.00	\$13,716.00	\$35.92	\$41,056.56	\$10.00	\$11,430.00	\$15.00	\$17,145.00	\$15.00	\$17,145.00
2030016	Sewer, Rem, 24 inch to 48 inch	43	Ft	\$18.00	\$774.00	\$45.63	\$1,962.09	\$40.00	\$1,720.00	\$45.00	\$1,935.00	\$32.00	\$1,376.00
2040020	Curb and Gutter, Rem	180	Ft	\$10.00	\$1,800.00	\$3.44	\$619.20	\$12.00	\$2,160.00	\$8.00	\$1,440.00	\$10.00	\$1,800.00
2040035	Guardrail, Rem	396	Ft	\$3.00	\$1,188.00	\$8.48	\$3,358.08	\$6.00	\$2,376.00	\$2.50	\$990.00	\$2.50	\$990.00
2040045	Masonry and Conc Structure, Rem	21	Cyd	\$60.00	\$1,260.00	\$141.98	\$2,981.58	\$130.00	\$2,730.00	\$150.00	\$3,150.00	\$150.00	\$3,150.00
2040070	Utility Pole, Rem	5	Ea	\$300.00	\$1,500.00	\$1,023.02	\$5,115.10	\$220.00	\$1,100.00	\$200.00	\$1,000.00	\$500.00	\$2,500.00
2040070	Utility Pole, Rem	5	Ea	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.01	\$0.05
2047011	Pavt, Rem, Modified	4399	Syd	\$4.50	\$19,795.50	\$10.02	\$44,077.98	\$10.00	\$43,990.00	\$8.00	\$35,192.00	\$7.50	\$32,992.50
2047021	Exploration for Utility Location	1000	Cyd	\$35.00	\$35,000.00	\$52.27	\$52,270.00	\$1.00	\$1,000.00	\$10.00	\$10,000.00	\$50.00	\$50,000.00
2047050	Sprinkler Relocate	250	Ea	\$150.00	\$37,500.00	\$155.02	\$38,755.00	\$33.00	\$8,250.00	\$25.00	\$6,250.00	\$40.00	\$10,000.00
2047051	Structures, Rem (STA 44+80)	1	LSUM	\$35,000.00	\$35,000.00	\$25,009.65	\$25,009.65	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
2047051	Structures, Rem (STA 59+75)	1	LSUM	\$15,000.00	\$15,000.00	\$20,007.72	\$20,007.72	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00
2047051	Structures, Rem (STA 81+25)	1	LSUM	\$50,000.00	\$50,000.00	\$25,009.65	\$25,009.65	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00
2050010	Embankment, CIP	6790	Cyd	\$9.00	\$61,110.00	\$4.07	\$27,635.30	\$8.00	\$54,320.00	\$11.00	\$74,690.00	\$6.00	\$40,740.00
2050015	Excavation, Channel	30	Cyd	\$35.00	\$1,050.00	\$21.32	\$639.60	\$40.00	\$1,200.00	\$35.00	\$1,050.00	\$20.00	\$600.00
2050016	Excavation, Earth	21930	Cyd	\$10.00	\$219,300.00	\$7.68	\$168,422.40	\$11.00	\$241,230.00	\$5.00	\$109,650.00	\$11.00	\$241,230.00
2057021	Subgrade Undercutting, 3 by 1	500	Cyd	\$35.00	\$17,500.00	\$35.24	\$17,620.00	\$60.00	\$30,000.00	\$50.00	\$25,000.00	\$57.00	\$28,500.00
2057021	Subgrade Undercutting, Type II, Modified	3000	Cyd	\$40.00	\$120,000.00	\$10.35	\$31,050.00	\$50.00	\$150,000.00	\$45.00	\$135,000.00	\$57.00	\$171,000.00
2060002	Backfill, Structure, CIP	78	Cyd	\$25.00	\$1,950.00	\$54.42	\$4,244.76	\$24.00	\$1,872.00	\$45.00	\$3,510.00	\$30.00	\$2,340.00
2060010	Excavation, Fdn	180	Cyd	\$15.00	\$2,700.00	\$19.05	\$3,429.00	\$20.00	\$3,600.00	\$20.00	\$3,600.00	\$15.00	\$2,700.00
2067011	Approach Grading	4933	Syd	\$4.50	\$22,198.50	\$7.39	\$36,454.87	\$10.00	\$49,330.00	\$7.50	\$36,997.50	\$6.00	\$29,598.00
2080020	Erosion Control, Inlet Protection, Fabric Drop	9	Ea	\$100.00	\$900.00	\$128.36	\$1,155.24	\$90.00	\$810.00	\$115.00	\$1,035.00	\$130.00	\$1,170.00

				ENGINEE	R ESTIMATE	1. Low Bidder - 0	Champagne & Marx	2. Rohde Br	os. Excavating	3. M&M	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
2080022	Erosion Control, Inlet Protection, Geotextile and Stone	24	Ea	\$150.00	\$3,600.00	\$154.68	\$3,712.32	\$60.00	\$1,440.00	\$200.00	\$4,800.00	\$325.00	\$7,800.00
2080036	Erosion Control, Silt Fence	2034	Ft	\$1.50	\$3,051.00	\$3.30	\$6,712.20	\$2.00	\$4,068.00	\$2.50	\$5,085.00	\$3.00	\$6,102.00
2080042	Erosion Control, Turbidity Curtain, Deep	90	Ft	\$15.00	\$1,350.00	\$34.96	\$3,146.40	\$14.00	\$1,260.00	\$10.00	\$900.00	\$35.00	\$3,150.00
3027011	Aggregate Base, 10 inch, Modified	14199	Syd	\$13.75	\$195,236.25	\$16.08	\$228,319.92	\$14.00	\$198,786.00	\$13.00	\$184,587.00	\$17.00	\$241,383.00
3027011	Aggregate Base, 12 inch, Modified	6668	Syd	\$14.00	\$93,352.00	\$19.38	\$129,225.84	\$16.00	\$106,688.00	\$15.50	\$103,354.00	\$20.00	\$133,360.00
3027011	Aggregate Base, 14 inch, Modified	6796	Syd	\$16.25	\$110,435.00	\$22.67	\$154,065.32	\$18.00	\$122,328.00	\$18.50	\$125,726.00	\$22.00	\$149,512.00
3027011	Aggregate Base, 6 inch, Modified	1319	Syd	\$8.25	\$10,881.75	\$11.05	\$14,574.95	\$14.00	\$18,466.00	\$8.50	\$11,211.50	\$11.50	\$15,168.50
3027011	Aggregate Base, 8 inch, Modified	2114	Syd	\$11.00	\$23,254.00	\$22.10	\$46,719.40	\$16.00	\$33,824.00	\$11.00	\$23,254.00	\$16.50	\$34,881.00
3060020	Maintenance Gravel	1000	Ton	\$20.00	\$20,000.00	\$50.03	\$50,030.00	\$23.00	\$23,000.00	\$25.00	\$25,000.00	\$30.00	\$30,000.00
3070021	Approach, Cl II	7	Ton	\$25.00	\$175.00	\$112.81	\$789.67	\$25.00	\$175.00	\$50.00	\$350.00	\$65.00	\$455.00
3070126	Shoulder, Cl II, 4 inch	1035	Syd	\$6.50	\$6,727.50	\$10.89	\$11,271.15	\$12.00	\$12,420.00	\$7.50	\$7,762.50	\$7.51	\$7,772.85
3070128	Shoulder, Cl II, 6 inch	986	Syd	\$9.75	\$9,613.50	\$12.38	\$12,206.68	\$13.00	\$12,818.00	\$11.00	\$10,846.00	\$12.50	\$12,325.00
4010047	Culv End Sect, Conc, 12 inch	6	Ea	\$650.00	\$3,900.00	\$731.28	\$4,387.68	\$600.00	\$3,600.00	\$600.00	\$3,600.00	\$825.00	\$4,950.00
4010048	Culv End Sect, Conc, 15 inch	7	Ea	\$760.00	\$5,320.00	\$759.53	\$5,316.71	\$650.00	\$4,550.00	\$700.00	\$4,900.00	\$875.00	\$6,125.00
4010049	Culv End Sect, Conc, 18 inch	1	Ea	\$795.00	\$795.00	\$804.73	\$804.73	\$680.00	\$680.00	\$800.00	\$800.00	\$910.00	\$910.00
4010051	Culv End Sect, Conc, 24 inch	1	Ea	\$830.00	\$830.00	\$895.14	\$895.14	\$780.00	\$780.00	\$900.00	\$900.00	\$1,025.00	\$1,025.00
4010072	Culv End Sect, Footing	15	Ea	\$850.00	\$12,750.00	\$186.47	\$2,797.05	\$300.00	\$4,500.00	\$300.00	\$4,500.00	\$700.00	\$10,500.00
4010083	Culv End Sect, Grate	1058	Lb	\$4.50	\$4,761.00	\$2.34	\$2,475.72	\$3.00	\$3,174.00	\$4.00	\$4,232.00	\$15.00	\$15,870.00
4010094	Culv End Sect, Metal, 12 inch	34	Ea	\$165.00	\$5,610.00	\$211.95	\$7,206.30	\$150.00	\$5,100.00	\$195.00	\$6,630.00	\$115.00	\$3,910.00
4010095	Culv End Sect, Metal, 15 inch	24	Ea	\$180.00	\$4,320.00	\$220.99	\$5,303.76	\$200.00	\$4,800.00	\$225.00	\$5,400.00	\$125.00	\$3,000.00
4010096	Culv End Sect, Metal, 18 inch	2	Ea	\$190.00	\$380.00	\$236.81	\$473.62	\$300.00	\$600.00	\$265.00	\$530.00	\$145.00	\$290.00
4010199	Culv, Cl A, CSP, 12 inch	123	Ft	\$25.00	\$3,075.00	\$48.36	\$5,948.28	\$50.00	\$6,150.00	\$55.00	\$6,765.00	\$47.00	\$5,781.00
4010200	Culv, Cl A, CSP, 15 inch	208	Ft	\$40.00	\$8,320.00	\$52.47	\$10,913.76	\$60.00	\$12,480.00	\$59.00	\$12,272.00	\$50.00	\$10,400.00
4010675	Culv, Cl F, CSP, 12 inch	716	Ft	\$30.00	\$21,480.00	\$48.63	\$34,819.08	\$38.00	\$27,208.00	\$40.00	\$28,640.00	\$50.00	\$35,800.00
4010676	Culv, Cl F, CSP, 15 inch	397	Ft	\$45.00	\$17,865.00	\$49.53	\$19,663.41	\$40.00	\$15,880.00	\$42.00	\$16,674.00	\$52.00	\$20,644.00
4010677	Culv, Cl F, CSP, 18 inch	75	Ft	\$55.00	\$4,125.00	\$51.79	\$3,884.25	\$50.00	\$3,750.00	\$43.00	\$3,225.00	\$53.00	\$3,975.00
4010928	Culv, Slp End Sect, 1 on 4, 30 inch, Transv	1	Ea	\$1,650.00	\$1,650.00	\$1,171.14	\$1,171.14	\$1,500.00	\$1,500.00	\$1,550.00	\$1,550.00	\$1,350.00	\$1,350.00
4011115	Outfall Label	2	Ea	\$215.00	\$430.00	\$301.93	\$603.86	\$200.00	\$400.00	\$200.00	\$400.00	\$150.00	\$300.00
4017001	Culv, Reinf Conc Ellip, HE Cl IV, 53 inch by 83 inch, Modified	124	Ft	\$1,000.00	\$124,000.00	\$907.73	\$112,558.52	\$1,740.00	\$215,760.00	\$2,050.00	\$254,200.00	\$1,400.00	\$173,600.00

				ENGINEER	RESTIMATE	1. Low Bidder - 0	Champagne & Marx	2. Rohde Bro	os. Excavating	3. M&M	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
4017001	Culv, Reinf Conc Ellip, HE Cl IV, 72 inch by 113 inch, Modified	107	Ft	\$1,400.00	\$149,800.00	\$1,312.71	\$140,459.97	\$2,310.00	\$247,170.00	\$2,650.00	\$283,550.00	\$2,100.00	\$224,700.00
4017050	Culv End Sect, Conc Ellip, HE Cl IV, 53 inch by 83 inch	2	Ea	\$12,000.00	\$24,000.00	\$10,746.27	\$21,492.54	\$18,000.00	\$36,000.00	\$12,000.00	\$24,000.00	\$11,000.00	\$22,000.00
4020001	Sewer, Cl A, 6 inch, Tr Det A	45	Ft	\$60.00	\$2,700.00	\$52.34	\$2,355.30	\$36.00	\$1,620.00	\$90.00	\$4,050.00	\$33.00	\$1,485.00
4020002	Sewer, Cl A, 8 inch, Tr Det A	9	Ft	\$80.00	\$720.00	\$129.79	\$1,168.11	\$38.00	\$342.00	\$105.00	\$945.00	\$46.00	\$414.00
4020003	Sewer, Cl A, 10 inch, Tr Det A	14	Ft	\$82.00	\$1,148.00	\$88.51	\$1,239.14	\$40.00	\$560.00	\$110.00	\$1,540.00	\$48.00	\$672.00
4020960	Sewer, Cl IV, 12 inch, Tr Det A	581	Ft	\$57.00	\$33,117.00	\$45.90	\$26,667.90	\$46.00	\$26,726.00	\$50.00	\$29,050.00	\$48.00	\$27,888.00
4020961	Sewer, Cl IV, 15 inch, Tr Det A	439	Ft	\$62.00	\$27,218.00	\$49.16	\$21,581.24	\$50.00	\$21,950.00	\$55.00	\$24,145.00	\$52.00	\$22,828.00
4020962	Sewer, Cl IV, 18 inch, Tr Det A	34	Ft	\$64.00	\$2,176.00	\$53.70	\$1,825.80	\$55.00	\$1,870.00	\$70.00	\$2,380.00	\$72.00	\$2,448.00
4020963	Sewer, Cl IV, 24 inch, Tr Det A	20	Ft	\$67.00	\$1,340.00	\$64.20	\$1,284.00	\$65.00	\$1,300.00	\$95.00	\$1,900.00	\$97.00	\$1,940.00
4020964	Sewer, Cl IV, 30 inch, Tr Det A	71	Ft	\$135.00	\$9,585.00	\$82.49	\$5,856.79	\$130.00	\$9,230.00	\$125.00	\$8,875.00	\$115.00	\$8,165.00
4020987	Sewer, Cl IV, 12 inch, Tr Det B	490	Ft	\$60.00	\$29,400.00	\$51.02	\$24,999.80	\$52.00	\$25,480.00	\$70.00	\$34,300.00	\$65.00	\$31,850.00
4020988	Sewer, Cl IV, 15 inch, Tr Det B	442	Ft	\$65.00	\$28,730.00	\$54.29	\$23,996.18	\$56.00	\$24,752.00	\$80.00	\$35,360.00	\$70.00	\$30,940.00
4020989	Sewer, Cl IV, 18 inch, Tr Det B	19	Ft	\$67.00	\$1,273.00	\$79.86	\$1,517.34	\$65.00	\$1,235.00	\$100.00	\$1,900.00	\$110.00	\$2,090.00
4020993	Sewer, Cl IV, 24 inch, Tr Det B	85	Ft	\$70.00	\$5,950.00	\$177.45	\$15,083.25	\$75.00	\$6,375.00	\$115.00	\$9,775.00	\$300.00	\$25,500.00
4020994	Sewer, Cl IV, 30 inch, Tr Det B	77	Ft	\$155.00	\$11,935.00	\$106.37	\$8,190.49	\$400.00	\$30,800.00	\$160.00	\$12,320.00	\$350.00	\$26,950.00
4021050	Sewer, Cl IV, 12 inch, Tr Det D	811	Ft	\$62.00	\$50,282.00	\$53.78	\$43,615.58	\$54.00	\$43,794.00	\$75.00	\$60,825.00	\$70.00	\$56,770.00
4021051	Sewer, Cl IV, 15 inch, Tr Det D	574	Ft	\$67.00	\$38,458.00	\$57.04	\$32,740.96	\$58.00	\$33,292.00	\$82.00	\$47,068.00	\$75.00	\$43,050.00
4021201	Sewer Tap, 6 inch	4	Ea	\$250.00	\$1,000.00	\$347.04	\$1,388.16	\$300.00	\$1,200.00	\$200.00	\$800.00	\$375.00	\$1,500.00
4021202	Sewer Tap, 8 inch	1	Ea	\$350.00	\$350.00	\$347.04	\$347.04	\$320.00	\$320.00	\$250.00	\$250.00	\$375.00	\$375.00
4021203	Sewer Tap, 10 inch	2	Ea	\$350.00	\$700.00	\$347.04	\$694.08	\$350.00	\$700.00	\$350.00	\$700.00	\$375.00	\$750.00
4021205	Sewer Tap, 15 inch	6	Ea	\$800.00	\$4,800.00	\$520.57	\$3,123.42	\$2,000.00	\$12,000.00	\$400.00	\$2,400.00	\$500.00	\$3,000.00
4021207	Sewer Tap, 24 inch	1	Ea	\$450.00	\$450.00	\$694.09	\$694.09	\$2,500.00	\$2,500.00	\$600.00	\$600.00	\$750.00	\$750.00
4021260	Trench Undercut and Backfill	250	Cyd	\$52.00	\$13,000.00	\$27.02	\$6,755.00	\$60.00	\$15,000.00	\$50.00	\$12,500.00	\$75.00	\$18,750.00
4021275	Video Taping Sewer and Culv Pipe	3846	Ft	\$1.50	\$5,769.00	\$2.59	\$9,961.14	\$2.00	\$7,692.00	\$1.50	\$5,769.00	\$3.00	\$11,538.00
4027050	Sewer Bulkhead, 10 inch	8	Ea	\$200.00	\$1,600.00	\$380.20	\$3,041.60	\$400.00	\$3,200.00	\$200.00	\$1,600.00	\$400.00	\$3,200.00
4027050	Sewer Bulkhead, 6 inch	3	Ea	\$160.00	\$480.00	\$323.70	\$971.10	\$200.00	\$600.00	\$200.00	\$600.00	\$400.00	\$1,200.00
4030005	Dr Structure Cover, Adj, Case 1	8	Ea	\$575.00	\$4,600.00	\$618.60	\$4,948.80	\$600.00	\$4,800.00	\$550.00	\$4,400.00	\$600.00	\$4,800.00
4030006	Dr Structure Cover, Adj, Case 2	8	Ea	\$375.00	\$3,000.00	\$786.97	\$6,295.76	\$500.00	\$4,000.00	\$450.00	\$3,600.00	\$400.00	\$3,200.00
4030010	Dr Structure Cover, Type B	8	Ea	\$600.00	\$4,800.00	\$327.73	\$2,621.84	\$500.00	\$4,000.00	\$725.00	\$5,800.00	\$750.00	\$6,000.00

				ENGINEER	ESTIMATE	1. Low Bidder - C	Champagne & Marx	2. Rohde Bro	os. Excavating	3. M&M	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
4030025	Dr Structure Cover, Type D	1	Ea	\$700.00	\$700.00	\$475.83	\$475.83	\$700.00	\$700.00	\$900.00	\$900.00	\$910.00	\$910.00
4030035	Dr Structure Cover, Type E	8	Ea	\$500.00	\$4,000.00	\$197.77	\$1,582.16	\$300.00	\$2,400.00	\$550.00	\$4,400.00	\$600.00	\$4,800.00
4030040	Dr Structure Cover, Type G	5	Ea	\$515.00	\$2,575.00	\$198.90	\$994.50	\$300.00	\$1,500.00	\$650.00	\$3,250.00	\$600.00	\$3,000.00
4030045	Dr Structure Cover, Type J	8	Ea	\$950.00	\$7,600.00	\$704.05	\$5,632.40	\$900.00	\$7,200.00	\$1,250.00	\$10,000.00	\$1,105.00	\$8,840.00
4030200	Dr Structure, 24 inch dia	5	Ea	\$1,400.00	\$7,000.00	\$1,466.20	\$7,331.00	\$1,200.00	\$6,000.00	\$1,250.00	\$6,250.00	\$1,260.00	\$6,300.00
4030210	Dr Structure, 48 inch dia	24	Ea	\$1,800.00	\$43,200.00	\$2,006.57	\$48,157.68	\$2,200.00	\$52,800.00	\$2,100.00	\$50,400.00	\$1,830.00	\$43,920.00
4030230	Dr Structure, 72 inch dia	1	Ea	\$5,000.00	\$5,000.00	\$3,465.33	\$3,465.33	\$4,800.00	\$4,800.00	\$4,100.00	\$4,100.00	\$4,500.00	\$4,500.00
4030250	Dr Structure, Add Depth of 48 inch dia, 8 foot to 15 foot	16	Ft	\$150.00	\$2,400.00	\$262.87	\$4,205.92	\$150.00	\$2,400.00	\$225.00	\$3,600.00	\$400.00	\$6,400.00
4030280	Dr Structure, Adj, Add Depth	10	Ft	\$150.00	\$1,500.00	\$392.25	\$3,922.50	\$200.00	\$2,000.00	\$430.00	\$4,300.00	\$500.00	\$5,000.00
4030312	Dr Structure, Tap, 12 inch	1	Ea	\$300.00	\$300.00	\$431.80	\$431.80	\$500.00	\$500.00	\$300.00	\$300.00	\$375.00	\$375.00
4030315	Dr Structure, Tap, 15 inch	6	Ea	\$350.00	\$2,100.00	\$437.45	\$2,624.70	\$500.00	\$3,000.00	\$425.00	\$2,550.00	\$375.00	\$2,250.00
4037001	Public Utility Structure, Adj, Add Depth	67	Ft	\$200.00	\$13,400.00	\$601.32	\$40,288.44	\$200.00	\$13,400.00	\$400.00	\$26,800.00	\$500.00	\$33,500.00
4037050	Manhole Cover, Collar	16	Ea	\$1,500.00	\$24,000.00	\$888.89	\$14,222.24	\$1,450.00	\$23,200.00	\$2,000.00	\$32,000.00	\$1,500.00	\$24,000.00
4037050	Public Utility Structure Cover, Adj, Case 1	9	Ea	\$550.00	\$4,950.00	\$516.56	\$4,649.04	\$800.00	\$7,200.00	\$600.00	\$5,400.00	\$600.00	\$5,400.00
4037050	Public Utility Structure Cover, Adj, Case 2	27	Ea	\$400.00	\$10,800.00	\$573.06	\$15,472.62	\$700.00	\$18,900.00	\$500.00	\$13,500.00	\$400.00	\$10,800.00
4040031	Underdrain, Fdn, 4 inch	683	Ft	\$10.00	\$6,830.00	\$18.43	\$12,587.69	\$5.00	\$3,415.00	\$5.00	\$3,415.00	\$5.00	\$3,415.00
4040073	Underdrain, Subgrade, 6 inch	3831	Ft	\$10.00	\$38,310.00	\$22.35	\$85,622.85	\$6.00	\$22,986.00	\$7.00	\$26,817.00	\$13.00	\$49,803.00
4040091	Underdrain Outlet, 4 inch	120	Ft	\$12.00	\$1,440.00	\$40.36	\$4,843.20	\$20.00	\$2,400.00	\$10.00	\$1,200.00	\$25.00	\$3,000.00
4040093	Underdrain Outlet, 6 inch	163	Ft	\$13.00	\$2,119.00	\$37.52	\$6,115.76	\$22.00	\$3,586.00	\$12.00	\$1,956.00	\$30.00	\$4,890.00
4040111	Underdrain, Outlet Ending, 4 inch	10	Ea	\$200.00	\$2,000.00	\$150.97	\$1,509.70	\$150.00	\$1,500.00	\$100.00	\$1,000.00	\$120.00	\$1,200.00
4040113	Underdrain, Outlet Ending, 6 inch	7	Ea	\$200.00	\$1,400.00	\$213.12	\$1,491.84	\$180.00	\$1,260.00	\$125.00	\$875.00	\$125.00	\$875.00
4060005	Culv Bedding, Box Culv	24	Cyd	\$80.00	\$1,920.00	\$64.81	\$1,555.44	\$60.00	\$1,440.00	\$100.00	\$2,400.00	\$130.00	\$3,120.00
4067051	Precast Wingwalls	1	LSUM	\$30,000.00	\$30,000.00	\$49,390.24	\$49,390.24	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
5010001	Pavt, Cleaning	1	LSUM	\$10,000.00	\$10,000.00	\$20,722.82	\$20,722.82	\$32,000.00	\$32,000.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00
5010002	Cold Milling HMA Surface	22809	Syd	\$2.50	\$57,022.50	\$1.87	\$42,652.83	\$2.00	\$45,618.00	\$1.15	\$26,230.35	\$0.48	\$10,948.32
5010005	HMA Surface, Rem	11205	Syd	\$4.00	\$44,820.00	\$2.96	\$33,166.80	\$3.00	\$33,615.00	\$2.70	\$30,253.50	\$1.30	\$14,566.50
5010020	Pavt Joint and Crack Repr, Det 7	14864	Ft	\$10.00	\$148,640.00	\$6.99	\$103,899.36	\$7.00	\$104,048.00	\$6.75	\$100,332.00	\$6.75	\$100,332.00
5010021	Pavt Joint and Crack Repr, Det 8	6739	Ft	\$13.00	\$87,607.00	\$8.03	\$54,114.17	\$8.00	\$53,912.00	\$7.75	\$52,227.25	\$7.75	\$52,227.25
5010025	Hand Patching	1418	Ton	\$125.00	\$177,250.00	\$108.80	\$154,278.40	\$110.00	\$155,980.00	\$105.00	\$148,890.00	\$105.00	\$148,890.00

				ENGINEER	RESTIMATE	1. Low Bidder - 0	Champagne & Marx	2. Rohde Br	os. Excavating	3. M&M	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
5010051	HMA, 4E3	9880	Ton	\$88.00	\$869,440.00	\$67.14	\$663,343.20	\$65.00	\$642,200.00	\$64.80	\$640,224.00	\$64.80	\$640,224.00
5010057	HMA, 5E3	6036	Ton	\$88.00	\$531,168.00	\$78.85	\$475,938.60	\$76.50	\$461,754.00	\$76.10	\$459,339.60	\$76.10	\$459,339.60
5017031	HMA Approach, Commercial	527	Ton	\$130.00	\$68,510.00	\$127.29	\$67,081.83	\$125.00	\$65,875.00	\$122.85	\$64,741.95	\$122.85	\$64,741.95
5017031	HMA Approach, Residential	203	Ton	\$130.00	\$26,390.00	\$127.29	\$25,839.87	\$125.00	\$25,375.00	\$122.85	\$24,938.55	\$122.85	\$24,938.55
5017031	HMA Approach, Side Street	139	Ton	\$130.00	\$18,070.00	\$127.29	\$17,693.31	\$125.00	\$17,375.00	\$122.85	\$17,076.15	\$122.85	\$17,076.15
5020807	HMA, Temp Pavt (LVSP)	283	Ton	\$100.00	\$28,300.00	\$110.56	\$31,288.48	\$111.00	\$31,413.00	\$106.70	\$30,196.10	\$106.70	\$30,196.10
6020200	Joint, Contraction, Cp	1600	Ft	\$15.00	\$24,000.00	\$12.43	\$19,888.00	\$7.00	\$11,200.00	\$10.65	\$17,040.00	\$13.37	\$21,392.00
6020207	Joint, Expansion, E2	850	Ft	\$15.00	\$12,750.00	\$18.65	\$15,852.50	\$11.00	\$9,350.00	\$20.41	\$17,348.50	\$22.64	\$19,244.00
6030020	Joint, Contraction, Crg	4300	Ft	\$15.00	\$64,500.00	\$18.65	\$80,195.00	\$6.00	\$25,800.00	\$8.15	\$35,045.00	\$8.68	\$37,324.00
6030030	Lane Tie, Epoxy Anchored	1700	Ea	\$7.00	\$11,900.00	\$10.36	\$17,612.00	\$12.00	\$20,400.00	\$4.90	\$8,330.00	\$5.91	\$10,047.00
6037011	Pavt Repr, Nonreinf Conc, 13 inch	2936	Syd	\$78.00	\$229,008.00	\$78.52	\$230,534.72	\$63.00	\$184,968.00	\$89.50	\$262,772.00	\$75.00	\$220,200.00
7040002	Steel Sheet Piling, Temp	1060	Sft	\$45.00	\$47,700.00	\$21.74	\$23,044.40	\$1.00	\$1,060.00	\$0.01	\$10.60	\$10.00	\$10,600.00
7040003	Steel Sheet Piling, Temp, Left in Place	1060	Sft	\$60.00	\$63,600.00	\$26.49	\$28,079.40	\$1.00	\$1,060.00	\$0.01	\$10.60	\$25.00	\$26,500.00
7060011	Conc, Grade S2	26	Cyd	\$1,000.00	\$26,000.00	\$1,517.98	\$39,467.48	\$1.00	\$26.00	\$1,070.00	\$27,820.00	\$1,200.00	\$31,200.00
7060091	Reinforcement, Steel, Culv and Headwall	62	Lb	\$5.00	\$310.00	\$103.62	\$6,424.44	\$3.00	\$186.00	\$5.00	\$310.00	\$2.50	\$155.00
7060092	Reinforcement, Steel, Epoxy Coated	3616	Lb	\$2.00	\$7,232.00	\$1.63	\$5,894.08	\$0.10	\$361.60	\$1.65	\$5,966.40	\$2.50	\$9,040.00
8010005	Driveway, Nonreinf Conc, 6 inch	87	Syd	\$40.00	\$3,480.00	\$46.63	\$4,056.81	\$40.00	\$3,480.00	\$42.98	\$3,739.26	\$42.00	\$3,654.00
8010007	Driveway, Nonreinf Conc, 8 inch	309	Syd	\$50.00	\$15,450.00	\$55.77	\$17,232.93	\$50.00	\$15,450.00	\$52.42	\$16,197.78	\$50.00	\$15,450.00
8020016	Curb and Gutter, Conc, Det B2	2230	Ft	\$25.00	\$55,750.00	\$25.05	\$55,861.50	\$23.00	\$51,290.00	\$21.24	\$47,365.20	\$27.00	\$60,210.00
8020038	Curb and Gutter, Conc, Det F4	90	Ft	\$32.00	\$2,880.00	\$20.72	\$1,864.80	\$24.00	\$2,160.00	\$19.55	\$1,759.50	\$23.00	\$2,070.00
8020050	Driveway Opening, Conc, Det M	385	Ft	\$25.00	\$9,625.00	\$26.94	\$10,371.90	\$24.00	\$9,240.00	\$20.57	\$7,919.45	\$21.00	\$8,085.00
8027001	Curb and Gutter, Conc, Det B2, Modified	75	Ft	\$32.00	\$2,400.00	\$25.05	\$1,878.75	\$24.00	\$1,800.00	\$21.24	\$1,593.00	\$53.00	\$3,975.00
8027001	Spillway, Conc, Modified	48	Ft	\$75.00	\$3,600.00	\$56.99	\$2,735.52	\$90.00	\$4,320.00	\$38.35	\$1,840.80	\$60.00	\$2,880.00
8070000	Guardrail, Type B	638	Ft	\$20.00	\$12,760.00	\$21.76	\$13,882.88	\$22.00	\$14,036.00	\$21.00	\$13,398.00	\$20.40	\$13,015.20
8070010	Guardrail, Curved, Type B	38	Ft	\$21.00	\$798.00	\$24.87	\$945.06	\$29.00	\$1,102.00	\$24.00	\$912.00	\$28.40	\$1,079.20
8070015	Guardrail, Backed, Det G1	1	Ea	\$1,500.00	\$1,500.00	\$1,761.48	\$1,761.48	\$2,100.00	\$2,100.00	\$1,700.00	\$1,700.00	\$2,080.00	\$2,080.00
8070040	Guardrail Approach Terminal, Type 1B	4	Ea	\$1,850.00	\$7,400.00	\$2,227.75	\$8,911.00	\$2,100.00	\$8,400.00	\$2,150.00	\$8,600.00	\$1,940.00	\$7,760.00
8070050	Guardrail Departing Terminal, Type B	4	Ea	\$685.00	\$2,740.00	\$828.93	\$3,315.72	\$700.00	\$2,800.00	\$800.00	\$3,200.00	\$650.00	\$2,600.00
8070080	Guardrail Reflector	80	Ea	\$5.50	\$440.00	\$12.43	\$994.40	\$5.00	\$400.00	\$12.00	\$960.00	\$5.00	\$400.00
8070095	Post, Mailbox	37	Ea	\$125.00	\$4,625.00	\$181.59	\$6,718.83	\$100.00	\$3,700.00	\$125.00	\$4,625.00	\$185.00	\$6,845.00

				ENGINEER	ESTIMATE	1. Low Bidder - C	hampagne & Marx	2. Rohde Bro	s. Excavating	3. M&M I	Excavation	4. Fisher Contra	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
8100371	Post, Steel, 3 lb	164	Ft	\$5.50	\$902.00	\$7.25	\$1,189.00	\$7.50	\$1,230.00	\$7.00	\$1,148.00	\$7.00	\$1,148.00
8100380	Post, Wood, 4 inch by 6 inch	56	Ft	\$18.00	\$1,008.00	\$25.90	\$1,450.40	\$26.00	\$1,456.00	\$25.00	\$1,400.00	\$25.00	\$1,400.00
8100397	Sign, Type II, Rem	2	Ea	\$20.00	\$40.00	\$25.90	\$51.80	\$26.00	\$52.00	\$25.00	\$50.00	\$25.00	\$50.00
8100398	Sign, Type IIA	20	Sft	\$16.50	\$330.00	\$22.80	\$456.00	\$23.00	\$460.00	\$22.00	\$440.00	\$22.00	\$440.00
8100402	Sign, Type III, Erect, Salv	6	Ea	\$40.00	\$240.00	\$51.81	\$310.86	\$52.00	\$312.00	\$50.00	\$300.00	\$50.00	\$300.00
8100403	Sign, Type III, Rem	9	Ea	\$20.00	\$180.00	\$25.90	\$233.10	\$26.00	\$234.00	\$25.00	\$225.00	\$25.00	\$225.00
8100404	Sign, Type IIIA	18	Sft	\$16.00	\$288.00	\$16.58	\$298.44	\$17.00	\$306.00	\$16.00	\$288.00	\$16.00	\$288.00
8100405	Sign, Type IIIB	17	Sft	\$16.00	\$272.00	\$18.65	\$317.05	\$19.00	\$323.00	\$18.00	\$306.00	\$18.00	\$306.00
8110044	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	29	Ft	\$7.00	\$203.00	\$8.29	\$240.41	\$9.00	\$261.00	\$8.00	\$232.00	\$8.00	\$232.00
8110232	Pavt Mrkg, Waterborne, 4 inch, Yellow	19065	Ft	\$0.30	\$5,719.50	\$0.16	\$3,050.40	\$0.15	\$2,859.75	\$0.15	\$2,859.75	\$0.15	\$2,859.75
8110233	Pavt Mrkg, Waterborne, 6 inch, White	12710	Ft	\$0.40	\$5,084.00	\$0.16	\$2,033.60	\$0.15	\$1,906.50	\$0.15	\$1,906.50	\$0.15	\$1,906.50
8110350	Witness, Log, \$1,000.00	1000	Dlr	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
8120012	Barricade, Type III, High Intensity, Double Sided, Lighted, Furn	30	Ea	\$85.00	\$2,550.00	\$181.33	\$5,439.90	\$180.00	\$5,400.00	\$175.00	\$5,250.00	\$175.00	\$5,250.00
8120013	Barricade, Type III, High Intensity, Double Sided, Lighted, Oper	30	Ea	\$1.00	\$30.00	\$10.36	\$310.80	\$20.00	\$600.00	\$10.00	\$300.00	\$10.00	\$300.00
8120041	Conc Barrier Ending, Temp, Detail 2, Furn	6	Ea	\$1,750.00	\$10,500.00	\$3,263.92	\$19,583.52	\$3,150.00	\$18,900.00	\$3,150.00	\$18,900.00	\$3,150.00	\$18,900.00
8120042	Conc Barrier Ending, Temp, Detail 2, Oper	6	Ea	\$200.00	\$1,200.00	\$103.62	\$621.72	\$100.00	\$600.00	\$100.00	\$600.00	\$100.00	\$600.00
8120043	Conc Barrier Ending, Temp, Detail 2, Relocated	12	Ea	\$530.00	\$6,360.00	\$518.08	\$6,216.96	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00
8120080	Conc Barrier, Temp, Adj	1325	Ft	\$5.00	\$6,625.00	\$10.49	\$13,899.25	\$7.00	\$9,275.00	\$4.50	\$5,962.50	\$3.00	\$3,975.00
8120081	Conc Barrier, Temp, Furn	1325	Ft	\$21.00	\$27,825.00	\$43.75	\$57,968.75	\$46.00	\$60,950.00	\$45.00	\$59,625.00	\$20.00	\$26,500.00
8120082	Conc Barrier, Temp, Oper	1325	Ft	\$5.00	\$6,625.00	\$10.49	\$13,899.25	\$5.00	\$6,625.00	\$6.00	\$7,950.00	\$12.00	\$15,900.00
8120083	Conc Barrier, Temp, Relocated	625	Ft	\$6.50	\$4,062.50	\$17.49	\$10,931.25	\$1.00	\$625.00	\$8.00	\$5,000.00	\$12.00	\$7,500.00
8120100	Dust Palliative, Applied	100	Ton	\$100.00	\$10,000.00	\$314.99	\$31,499.00	\$300.00	\$30,000.00	\$0.01	\$1.00	\$304.00	\$30,400.00
8120110	High Intensity Light, Type B, Furn	6	Ea	\$65.00	\$390.00	\$77.71	\$466.26	\$76.00	\$456.00	\$75.00	\$450.00	\$75.00	\$450.00
8120111	High Intensity Light, Type B, Oper	6	Ea	\$5.00	\$30.00	\$1.04	\$6.24	\$2.00	\$12.00	\$1.00	\$6.00	\$1.00	\$6.00
8120140	Lighted Arrow, Type C, Furn	2	Ea	\$330.00	\$660.00	\$1,813.99	\$3,627.98	\$1,900.00	\$3,800.00	\$1,750.00	\$3,500.00	\$1,750.00	\$3,500.00
8120141	Lighted Arrow, Type C, Oper	2	Ea	\$100.00	\$200.00	\$207.23	\$414.46	\$300.00	\$600.00	\$200.00	\$400.00	\$200.00	\$400.00
8120170	Minor Traf Devices	1	LSUM	\$175,000.00	\$175,000.00	\$107,165.26	\$107,165.26	\$298,621.00	\$298,621.00	\$550,000.00	\$550,000.00	\$373,872.40	\$373,872.40

				ENGINEER	ESTIMATE	1. Low Bidder - C	Champagne & Marx	2. Rohde Bro	os. Excavating	3. M&M I	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
8120210	Pavt Mrkg, Longit, 6 inch or Less Width, Rem	84800	Ft	\$0.50	\$42,400.00	\$0.51	\$43,248.00	\$0.50	\$42,400.00	\$0.49	\$41,552.00	\$0.49	\$41,552.00
8120235	Pavt Mrkg, Wet Reflective, Type NR, Paint, 4 inch, White, Temp	58050	Ft	\$0.50	\$29,025.00	\$0.51	\$29,605.50	\$0.50	\$29,025.00	\$0.49	\$28,444.50	\$0.49	\$28,444.50
8120236	Pavt Mrkg, Wet Reflective, Type NR, Paint, 4 inch, Yellow, Temp	52750	Ft	\$0.50	\$26,375.00	\$0.51	\$26,902.50	\$0.50	\$26,375.00	\$0.49	\$25,847.50	\$0.49	\$25,847.50
8120245	Pavt Mrkg, Wet Reflective, Type R, Tape, 4 inch, White, Temp	11839	Ft	\$1.25	\$14,798.75	\$1.92	\$22,730.88	\$1.90	\$22,494.10	\$1.85	\$21,902.15	\$1.85	\$21,902.15
8120246	Pavt Mrkg, Wet Reflective, Type R, Tape, 4 inch, Yellow, Temp	10290	Ft	\$1.25	\$12,862.50	\$1.92	\$19,756.80	\$1.90	\$19,551.00	\$1.85	\$19,036.50	\$1.85	\$19,036.50
8120250	Plastic Drum, High Intensity, Furn	615	Ea	\$20.00	\$12,300.00	\$30.05	\$18,480.75	\$30.00	\$18,450.00	\$29.00	\$17,835.00	\$29.00	\$17,835.00
8120251	Plastic Drum, High Intensity, Oper	615	Ea	\$1.00	\$615.00	\$1.04	\$639.60	\$1.00	\$615.00	\$1.00	\$615.00	\$1.00	\$615.00
8120265	Pavt Mrkg, Wet Reflective, Type R, Tape, 24 inch, Stop Bar	94	Ft	\$10.00	\$940.00	\$13.42	\$1,261.48	\$13.00	\$1,222.00	\$12.95	\$1,217.30	\$12.95	\$1,217.30
8120310	Sign Cover	10	Ea	\$30.00	\$300.00	\$41.45	\$414.50	\$42.00	\$420.00	\$40.00	\$400.00	\$40.00	\$400.00
8120330	Sign, Portable, Changeable Message, Furn	2	Ea	\$2,200.00	\$4,400.00	\$7,123.63	\$14,247.26	\$7,000.00	\$14,000.00	\$6,875.00	\$13,750.00	\$6,875.00	\$13,750.00
8120331	Sign, Portable, Changeable Message, Oper	2	Ea	\$300.00	\$600.00	\$1,036.16	\$2,072.32	\$1,100.00	\$2,200.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
8120340	Sign, Type A, Temp, Prismatic, Furn	16	Sft	\$3.50	\$56.00	\$7.25	\$116.00	\$7.00	\$112.00	\$7.00	\$112.00	\$7.00	\$112.00
8120341	Sign, Type A, Temp, Prismatic, Oper	16	Sft	\$1.00	\$16.00	\$1.04	\$16.64	\$1.00	\$16.00	\$1.00	\$16.00	\$1.00	\$16.00
8120350	Sign, Type B, Temp, Prismatic, Furn	709	Sft	\$3.00	\$2,127.00	\$7.25	\$5,140.25	\$7.00	\$4,963.00	\$7.00	\$4,963.00	\$7.00	\$4,963.00
8120351	Sign, Type B, Temp, Prismatic, Oper	709	Sft	\$1.00	\$709.00	\$1.04	\$737.36	\$1.00	\$709.00	\$1.00	\$709.00	\$1.00	\$709.00
8120352	Sign, Type B, Temp, Prismatic, Special, Furn	275	Sft	\$7.00	\$1,925.00	\$7.25	\$1,993.75	\$7.00	\$1,925.00	\$7.00	\$1,925.00	\$7.00	\$1,925.00
8120353	Sign, Type B, Temp, Prismatic, Special, Oper	275	Sft	\$1.00	\$275.00	\$1.04	\$286.00	\$1.00	\$275.00	\$1.00	\$275.00	\$1.00	\$275.00
8120370	Traf Regulator Control	1	LSUM	\$175,000.00	\$175,000.00	\$77,510.57	\$77,510.57	\$5,000.15	\$5,000.15	\$10,000.00	\$10,000.00	\$0.01	\$0.01
8127050	EDA Project Sign	1	Ea	\$500.00	\$500.00	\$2,167.30	\$2,167.30	\$2,000.00	\$2,000.00	\$1,350.00	\$1,350.00	\$3,921.07	\$3,921.07
8130010	Riprap, Plain	451	Syd	\$60.00	\$27,060.00	\$58.42	\$26,347.42	\$65.00	\$29,315.00	\$65.00	\$29,315.00	\$44.00	\$19,844.00
8167011	Slope Restoration	29416	Syd	\$4.00	\$117,664.00	\$4.14	\$121,782.24	\$3.00	\$88,248.00	\$2.00	\$58,832.00	\$2.90	\$85,306.40
8167011	Temp Mulch	21334	Syd	\$1.50	\$32,001.00	\$0.41	\$8,746.94	\$0.35	\$7,466.90	\$0.35	\$7,466.90	\$0.35	\$7,466.90
8190027	Conduit, DB, 1, 1 1/2 inch	35	Ft	\$12.00	\$420.00	\$29.01	\$1,015.35	\$16.00	\$560.00	\$15.00	\$525.00	\$28.00	\$980.00
8190035	Conduit, DB, 3, 3 inch	15	Ft	\$25.00	\$375.00	\$37.30	\$559.50	\$26.00	\$390.00	\$25.00	\$375.00	\$36.00	\$540.00
8190038	Conduit, DB, 4, 3 inch	20	Ft	\$33.00	\$660.00	\$44.56	\$891.20	\$31.00	\$620.00	\$30.00	\$600.00	\$43.00	\$860.00
8190399	Cable, Sec, 600V, 1, 3/C#6	65	Ft	\$6.00	\$390.00	\$5.18	\$336.70	\$8.00	\$520.00	\$7.00	\$455.00	\$5.00	\$325.00
8197001	Gas Utility, Rem	1000	Ft	\$4.00	\$4,000.00	\$13.21	\$13,210.00	\$5.00	\$5,000.00	\$1.00	\$1,000.00	\$12.91	\$12,910.00

Page 8of 10

				ENGINEER	ESTIMATE	1. Low Bidder - C	Champagne & Marx	2. Rohde Bro	os. Excavating	3. M&M E	excavation	4. Fisher Contra	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
8197001	Telephone Utiltiy, Rem	1000	Ft	\$2.50	\$2,500.00	\$8.58	\$8,580.00	\$5.00	\$5,000.00	\$1.00	\$1,000.00	\$12.91	\$12,910.00
8200020	Case Sign, Rem	1	Ea	\$125.00	\$125.00	\$259.04	\$259.04	\$220.00	\$220.00	\$200.00	\$200.00	\$250.00	\$250.00
8200029	Case Sign (LED), One Way, 24 inch by 30 inch	4	Ea	\$1,600.00	\$6,400.00	\$2,279.56	\$9,118.24	\$1,980.00	\$7,920.00	\$1,800.00	\$7,200.00	\$2,000.00	\$8,000.00
8200030	Controller and Cabinet, Rem	1	Ea	\$200.00	\$200.00	\$284.95	\$284.95	\$220.00	\$220.00	\$200.00	\$200.00	\$275.00	\$275.00
8200045	Controller Fdn, Base Mount	1	Ea	\$2,000.00	\$2,000.00	\$2,124.14	\$2,124.14	\$1,800.00	\$1,800.00	\$1,700.00	\$1,700.00	\$2,050.00	\$2,050.00
8200065	Fdn, Rem	1	Ea	\$350.00	\$350.00	\$543.99	\$543.99	\$320.00	\$320.00	\$300.00	\$300.00	\$525.00	\$525.00
8200095	Metered Serv, Rem	1	Ea	\$100.00	\$100.00	\$543.99	\$543.99	\$220.00	\$220.00	\$200.00	\$200.00	\$525.00	\$525.00
8200116	Power Co. (Est. Cost to Contractor)	1000	Dlr	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
8200135	Serv Disconnect	1	Ea	\$1,000.00	\$1,000.00	\$1,424.73	\$1,424.73	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00	\$1,375.00	\$1,375.00
8200136	Serv Disconnect, Rem	1	Ea	\$100.00	\$100.00	\$155.42	\$155.42	\$220.00	\$220.00	\$200.00	\$200.00	\$150.00	\$150.00
8200140	Span Wire	4	Ea	\$800.00	\$3,200.00	\$1,036.16	\$4,144.64	\$740.00	\$2,960.00	\$700.00	\$2,800.00	\$1,000.00	\$4,000.00
8200141	Span Wire, Rem	1	Ea	\$150.00	\$150.00	\$259.04	\$259.04	\$220.00	\$220.00	\$200.00	\$200.00	\$250.00	\$250.00
8200145	Steel Pole, Rem	1,	Ea	\$325.00	\$325.00	\$259.04	\$259.04	\$320.00	\$320.00	\$300.00	\$300.00	\$250.00	\$250.00
8200182	TS, Span Wire Mtd, Rem	4	Ea	\$100.00	\$400.00	\$155.42	\$621.68	\$220.00	\$880.00	\$200.00	\$800.00	\$150.00	\$600.00
8200186	Cabinet, NEMA Type	1	Ea	\$18,000.00	\$18,000.00	\$19,013.61	\$19,013.61	\$19,000.00	\$19,000.00	\$17,600.00	\$17,600.00	\$18,350.00	\$18,350.00
8200313	TS, One Way Span Wire Mtd (LED)	8	Ea	\$1,000.00	\$8,000.00	\$1,243.40	\$9,947.20	\$1,050.00	\$8,400.00	\$1,000.00	\$8,000.00	\$1,200.00	\$9,600.00
8200333	TS, One Way Bracket Arm Mtd (LED)	1	Ea	\$1,200.00	\$1,200.00	\$1,295.20	\$1,295.20	\$1,100.00	\$1,100.00	\$1,050.00	\$1,050.00	\$1,250.00	\$1,250.00
8200422	Wireless Vehicle Detection System	1	Ea	\$6,500.00	\$6,500.00	\$6,890.49	\$6,890.49	\$6,300.00	\$6,300.00	\$6,150.00	\$6,150.00	\$6,650.00	\$6,650.00
8200425	Wireless Vehicle Sensor Node	8	Ea	\$900.00	\$7,200.00	\$984.36	\$7,874.88	\$1,100.00	\$8,800.00	\$1,000.00	\$8,000.00	\$950.00	\$7,600.00
8200453	TS Head, Temp	2	Ea	\$1,000.00	\$2,000.00	\$1,502.44	\$3,004.88	\$1,100.00	\$2,200.00	\$1,000.00	\$2,000.00	\$1,450.00	\$2,900.00
8200458	TS Face, Bag	5	Ea	\$135.00	\$675.00	\$362.66	\$1,813.30	\$260.00	\$1,300.00	\$250.00	\$1,250.00	\$350.00	\$1,750.00
8200459	TS Face, Bag, Rem	2	Ea	\$100.00	\$200.00	\$543.99	\$1,087.98	\$260.00	\$520.00	\$250.00	\$500.00	\$525.00	\$1,050.00
8200460	Strain Pole, Steel, 6 bolt, 30 foot	3	Ea	\$5,500.00	\$16,500.00	\$6,994.11	\$20,982.33	\$6,400.00	\$19,200.00	\$6,200.00	\$18,600.00	\$6,750.00	\$20,250.00
8200470	Strain Pole Fdn, 6 Bolt	45	Ft	\$500.00	\$22,500.00	\$466.27	\$20,982.15	\$630.00	\$28,350.00	\$600.00	\$27,000.00	\$450.00	\$20,250.00
8200480	Casing	11	Ft	\$180.00	\$1,980.00	\$186.51	\$2,051.61	\$250.00	\$2,750.00	\$225.00	\$2,475.00	\$180.00	\$1,980.00
8207050	Controller, NEMA, ATC Type	1	Ea	\$7,000.00	\$7,000.00	\$4,714.55	\$4,714.55	\$3,900.00	\$3,900.00	\$3,575.00	\$3,575.00	\$4,550.00	\$4,550.00
8230096	Hydrant, Relocate, Case 2	1	Ea	\$6,000.00	\$6,000.00	\$4,869.68	\$4,869.68	\$6,000.00	\$6,000.00	\$1,500.00	\$1,500.00	\$7,500.00	\$7,500.00
8230391	Gate Box, Adj, Temp, Case 1	25	Ea	\$375.00	\$9,375.00	\$306.83	\$7,670.75	\$180.00	\$4,500.00	\$100.00	\$2,500.00	\$165.00	\$4,125.00
8230431	Gate Box, Adj, Case 1	9	Ea	\$375.00	\$3,375.00	\$362.87	\$3,265.83	\$250.00	\$2,250.00	\$300.00	\$2,700.00	\$200.00	\$1,800.00
8230432	Gate Box, Adj, Case 2	16	Ea	\$200.00	\$3,200.00	\$400.16	\$6,402.56	\$200.00	\$3,200.00	\$200.00	\$3,200.00	\$150.00	\$2,400.00

	Description			ENGINEER	ESTIMATE	1. Low Bidder - 0	Champagne & Marx	2. Rohde Br	ros. Excavating	3. M&M	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
8237001	Sanitary Sewer Lead, PVC, 6 inch, Tr Det G	100	Ft	\$80.00	\$8,000.00	\$66.23	\$6,623.00	\$80.00	\$8,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00
8237001	Water Main, DI, 20 inch, Tr Det G	62	Ft	\$300.00	\$18,600.00	\$463.68	\$28,748.16	\$800.00	\$49,600.00	\$500.00	\$31,000.00	\$600.00	\$37,200.00
8237001	Water Main, Rem	62	Ft	\$3.00	\$186.00	\$126.60	\$7,849.20	\$20.00	\$1,240.00	\$25.00	\$1,550.00	\$20.00	\$1,240.00
8237050	Connect to Existing Water Main	2	Ea	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	\$6,000.00	\$12,000.00	\$12,500.00	\$25,000.00	\$0.00	\$0.00
8237050	Gate Valve and Box, 20 inch	1	Ea	\$3,500.00	\$3,500.00	\$14,509.48	\$14,509.48	\$17,400.00	\$17,400.00	\$21,000.00	\$21,000.00	\$17,500.00	\$17,500.00
8237050	Water Main, 20 inch, Cut and Plug	2	Ea	\$1,000.00	\$2,000.00	\$6,572.73	\$13,145.46	\$6,000.00	\$12,000.00	\$5,000.00	\$10,000.00	\$1,500.00	\$3,000.00
8237051	Testing and Chlorination of Water Main	1	LSUM	\$2,000.00	\$2,000.00	\$4,319.80	\$4,319.80	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00	\$2,500.00	\$2,500.00
8257050	Air Relief in Manhole	1	Ea	\$3,500.00	\$3,500.00	\$4,282.39	\$4,282.39	\$6,500.00	\$6,500.00	\$6,000.00	\$6,000.00	\$4,500.00	\$4,500.00
			CATI	EGORY 1 TOTAL =	\$6,248,808.75		\$5,836,108.00		\$6,025,799.00		\$6,154,224.64		\$6,202,449.70

				ENGINEER	ESTIMATE	1. Low Bidder - 0	Champagne & Marx	2. Rohde Br	os. Excavating	3. M&M	Excavation	4. Fisher Contr	acting Company
Item Number	Description	Quantity	Unit	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total	Bid Price	Total
CATEGORY 2	2 - Non-EDA Participating												
2030015	Sewer, Rem, Less than 24 inch	35	Ft	\$12.00	\$420.00	\$94.71	\$3,314.85	\$20.00	\$700.00	\$25.00	\$875.00	\$20.00	\$700.00
2040025	Fence, Rem	70	Ft	\$5.00	\$350.00	\$42.40	\$2,968.00	\$20.00	\$1,400.00	\$10.00	\$700.00	\$5.00	\$350.00
2050010	Embankment, CIP	389	Cyd	\$9.00	\$3,501.00	\$12.21	\$4,749.69	\$8.00	\$3,112.00	\$11.00	\$4,279.00	\$6.00	\$2,334.00
2050016	Excavation, Earth	148	Cyd	\$10.00	\$1,480.00	\$19.05	\$2,819.40	\$11.00	\$1,628.00	\$11.00	\$1,628.00	\$12.00	\$1,776.00
2080036	Erosion Control, Silt Fence	380	Ft	\$1.50	\$570.00	\$3.30	\$1,254.00	\$2.00	\$760.00	\$2.50	\$950.00	\$3.00	\$1,140.00
8130010	Riprap, Plain	124	Syd	\$60.00	\$7,440.00	\$83.79	\$10,389.96	\$80.00	\$9,920.00	\$65.00	\$8,060.00	\$44.00	\$5,456.00
8167011	Slope Restoration	485	Syd	\$4.00	\$1,940.00	\$5.33	\$2,585.05	\$7.00	\$3,395.00	\$2.00	\$970.00	\$6.80	\$3,298.00
8237001	Polythylene Encasement (BCT)	175	Ft	\$5.00	\$875.00	\$1.13	\$197.75	\$2.00	\$350.00	\$3.00	\$525.00	\$5.00	\$875.00
8237001	Water Main, DI, 10 inch, Tr Det F (BCT)	75	Ft	\$70.00	\$5,250.00	\$187.79	\$14,084.25	\$160.00	\$12,000.00	\$130.00	\$9,750.00	\$215.00	\$16,125.00
8237001	Water Main, DI, 12 inch, Tr Det F (BCT)	100	Ft	\$75.00	\$7,500.00	\$180.01	\$18,001.00	\$170.00	\$17,000.00	\$141.00	\$14,100.00	\$125.00	\$12,500.00
8237001	Water Main, Rem (BCT)	175	Ft	\$15.00	\$2,625.00	\$43.61	\$7,631.75	\$20.00	\$3,500.00	\$25.00	\$4,375.00	\$20.00	\$3,500.00
8237050	Connect to Existing 10" Water Main (BCT)	3	Ea	\$2,500.00	\$7,500.00	\$4,413.01	\$13,239.03	\$4,000.00	\$12,000.00	\$5,000.00	\$15,000.00	\$3,750.00	\$11,250.00
8237050	Connect to Existing 12" Water Main (BCT)	1	Ea	\$2,500.00	\$2,500.00	\$4,978.06	\$4,978.06	\$4,000.00	\$4,000.00	\$5,500.00	\$5,500.00	\$4,750.00	\$4,750.00
8237050	Gate Valve and Box, 10 inch (BCT)	2	Ea	\$2,000.00	\$4,000.00	\$2,308.89	\$4,617.78	\$4,500.00	\$9,000.00	\$2,800.00	\$5,600.00	\$4,250.00	\$8,500.00
8237050	Gate Valve and Box, 12 inch (BCT)	2	Ea	\$2,500.00	\$5,000.00	\$2,768.83	\$5,537.66	\$5,000.00	\$10,000.00	\$3,800.00	\$7,600.00	\$4,500.00	\$9,000.00
8237051	Testing and Chlorination of Water Main (BCT) – Pribil Drain	1	LSUM	\$2,000.00	\$2,000.00	\$4,007.90	\$4,007.90	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$2,750.00	\$2,750.00
8237051	Testing and Chlorination of Water Main (BCT) – Candlelite Bowling	1	LSUM	\$2,000.00	\$2,000.00	\$4,007.90	\$4,007.90	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$2,750.00	\$2,750.00
			CATI	EGORY 2 TOTAL =	\$54,951.00		\$104,384.03		\$98,765.00		\$89,912.00		\$87,054.00
			ТОТА	L PROJECT BID =	\$6,303,759.75		\$5,940,492.03		\$6,124,564.00		\$6,244,136.64		\$6,289,503.70
					100.00%		94.24%		97.16%		99.05%		99.77%